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6WXGHQWV�ZLOO�UHFRJQL]H�WKH�YDOXH�RI�ZHDULQJ�VDIHW\�JODVVHV
LQ�WKH�ODE�E\�����GHVFULELQJ�WKH�GDQJHUV�WR�WKH�H\HV�LQ�WKH
ZHOGLQJ�ODE���VXFK�DV�89�UD\V��SURMHFWLOHV��FKHPLFDOV�DQG
VSDUNV�PROWHQ�PDWHULDO������FRPSO\LQJ�FRQVLVWHQWO\�ZLWK
WKH�'HSDUWPHQW�SROLF\�RI�DOZD\V�ZHDULQJ�VDIHW\�JODVVHV�LQ
WKH�ODE�

:ULWWHQ�VDIHW\
H[DP�2EVHUYDWLRQ
LQ�ODE

6WXGHQWV�ZLOO�GHWHUPLQH�VHYHUDO�DGYDQWDJHV�DQG
GLVDGYDQWDJHV�RI�D�JLYHQ�ZHOGLQJ�SURFHVV��DQG�GLIIHUHQWLDWH
EHWZHHQ�GLIIHUHQW�ZHOGLQJ�SURFHVVHV�

:ULWWHQ�H[DP
&RPSDULVRQ
H[HUFLVHV�LQ�ODE

6WXGHQWV�ZLOO�FRUUHFWO\�OLVW�VWHSV�IRU�VHWXS�DQG�VKXW�GRZQ�RI
UHJXODWRU�DQG�WRUFK�VHW�IRU�2[\�$FHW\OHQH�ZHOGLQJ��,Q�WKH
ODE��WKH\�ZLOO�SHUIRUP�WKHVH�VWHSV�DQG�FRUUHFWO\�DGMXVW�IRU�D
QHXWUDO�IODPH�

:ULWWHQ�H[DP
2EVHUYDWLRQ�DQG
SUDFWLFDO�H[DPV�LQ
ODE

6WXGHQWV�ZLOO�VHW�XS�DQ�DUF�ZHOGLQJ�SRZHU�VXSSO\�DQG�LWV
UHODWHG�FRPSRQHQWV�IRU�60$:��*0$:�DQG�*7$:
SURFHVVHV��VWULNH�DQ�DUF��DQG�FRPSOHWH�D�ZHOG�LQ�WKH�IODW
SRVLWLRQ�FRPSOLDQW�ZLWK�$:6�'����FRGH�VWDQGDUGV�

:ULWWHQ�H[DP
2EVHUYDWLRQ�DQG
SUDFWLFDO�H[DPV�LQ
ODE�


